Ph¥oFI5

A10331 | VPIZ/SVF

VPER DRI/ K,
O VP13IEEFF10A. VP16 BFRI5AE LY £ T,
@VP30. VP40, VP50133218 654 %,
O@EXENRD > XL LT, hYa
- -t N -
mEFI—F A10331 VPiL/N\V K BT (mm) EEE
¥4 Mo e AL R AR
S | Tz EeEsE t | C gV EX D | P|F | @ g
o11 | 13 180 | 1.0 | 25 | M6x20 | 45 | 20 | 6 | 500
0026 | 16 | 220 | 10|25 | M6x20 | 45 | 20 | 6 | 400
0045 | 20 | 260 |1.0| 25| M6x20 | 45 | 20 | 6 | 300
0050 | 25 | 320 | 10|25 | Méx20 | 45| 20 | 6 | 300
0172 | 30 | 380 |10 |2 | M6x20 | 45 | 20 | 6 | 300
0187 | 40 | 480 | 10| 25 | M6x20 | 45 | 20 | 6 | 220
0191 | 5 | 600 | 10|25 | M6x20 | 45| 20 | 6 | 150
0098 | 65 | 760 | 10|32 | M8x25 |45 |20 | 6 | 120
o115 | 75 | 890 | 10|32 | M8x25 | 45| 20 | 6 | 100
0120 | 100 | 1140 | 10|32 | M8x25 | 45 | 20 | 6 | 60
0134 | 125 | 1400 |20 | 82 | M8x25 | 55 | 27 | 8 | 25
0149 | 150 | 1650 |20 | 32 | M8x25 | 55 |27 | 8 | 20
0153 | 200 | 2160 |20 |32 | M8x25 |55 | 27 | 8 | 25
0168 | 250 | 267.0 | 20|32 | Msx25 | 55 |27 | 8 | 15
RS RN
A10352] RFVP3I/SV K
VPERDRITRIL/IN K,
@VP30. VP40, VP5013321B 654 %,
@125ALLEIE) TOHWFERE LBV ET,
@SUS3048,
@mEI—F A10352 XFUVPIL/NVK B4 (mm)
HAX N e WAL K A
o | X |EeEsE | C |TRUEN | D P F | (g
011 | 13 180 | 1.0 | 25 | M6x20 | 45 | 20 | 6 | 500
. 0026 | 16 | 220 | 10|25 | M6x20 | 45 | 20 | 6 | 400
-C- 0045 | 20 | 260 |1.0| 25 | M6x20 | 45 | 20 | 6 | 300
ST 0050 | 25 | 320 |1.0| 25| M6x20 | 45 | 20 | 6 | 300
o1z | 0172 | 30 | 380 | 10|25 | M6x20 | 45 | 20 | 6 | 300
T 0187 | 40 | 480 | 10| 25 | M6x20 | 45 | 20 | 6 | 220
0191 50 60.0 1.0 | 25 M6 %X 20 45 | 20 6 150
0098 | 65 | 760 |1.0| 32| M8x25 |45 |20 | 6 | 120
0115 75 89.0 1.0 | 32 M8 X 25 45 | 20 6 100
\ O 0120 | 100 | 1140 | 1.0 | 32 | M8x25 | 45 | 20 | 6 | 60
0134 125 140.0 20 | 32 M8 X% 25 55 | 27 8 25
0149 | 150 | 1650 |20 | 32 | M8x25 | 55 |27 | 8 | 20
0153 | 200 | 2160 |20 |32 | M8x25 | 55 |27 | 8 | 25
0168 | 250 | 267.0 | 20|32 | M8x25 |55 |27 | 8 | 15
e o +~
F A10332]| YRR/ K
e E-—LSUEHDIEEXIT/N K, — wC s EwES
£ 3 N D REBBELHVETD
:: Sz @S EInD o &L LT, = e,
@mBEI—K A10332 JARMLNVF R (o)
¥4 X o p SR N AB
I | vz (memsE | o (BTN 0| P F | g
0019 50 54 | 23| 25| M6x20 | 45 | 20 | 6 | 200
0023 65 68 | 23| 25| M6x20 | 45 | 20 | 6 | 200
0038 75 80 | 23|25 | M6x20 | 45 | 20 | 6 | 150
0042 | 100 106 | 23|25 | M6x20 | 45 | 20 | 6 | 100
0057 125 134 32| 32 M10X%30 55 | 27 8 30
0061 | 150 165 | 3.2 | 32 | M10x30 | 55 | 27 | 8 | 25

79




